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When a resultant/net force acts on an object, the object will accelerate in the direction of
the foroe at an acceleration directfy proportional to the force and inversely proportional

to the mass of the object. v (2 or 0)
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31  Newton's 3™ Law (of motion). v U{, | v

When object A exerts a force on object B, object B SIMULTANEOUSLY exerts an
oppositely directed force of equal magnitude on object A. v
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34 DECREASES. v
Air resistance decreases the net force (and hence acceleration). v/

4.1 Each particle in the universe attracts every other particle with a gravitational force that is
directly proportional to the product of their masses and inversely proportional to the
square of the distance between their centres. v'v' (2 or 0)
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4.3.1 The weight of an object is the (gravitational) force with which earth attracts the object. v

432 SMALLERTHAN.v

5.1 Acovalent bond is the overlapping of half-filled orbitals resulting in the sharing of

electrons. v'v' (2 or 0)

5.2.1 Trigonal planar. v
5.2.2 Trigonal pyramidal. v/ . /
5.2.3 Tetrahedral. v t
5.2.4 Angular. v H
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5.3.2 Dative covalent bond. v’

5.4.1 Tetrahedral. v
5.4.2 Trigonal planar. v



